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PHYSICS
HkkSfrd foKku ¼lS)kfUrd½HkkSfrd foKku ¼lS)kfUrd½HkkSfrd foKku ¼lS)kfUrd½HkkSfrd foKku ¼lS)kfUrd½HkkSfrd foKku ¼lS)kfUrd½

Time allowed : 3 hours Maximum Marks: 70
fu/kkZfjr le; % 3 ?k.Vs vf/kdre vad % 70

General Instructions :
(i) All  questions are compulsory.
(ii) There is no overall choice. However, an internal choice has been provided in one

question of two marks, one question of three marks and all three questions of five
marks. You have to attempt only one of the choice in such questions.

(iii) Question numbers 1 to 5 are very short answer type questions, carrying one mark each.
(iv) Question numbers 6 to 12 are short answer type questions, carrying two marks each.
(v) Question numbers 13 to 24 are also short answer type questions, carrying three marks

each.
(vi) Questions numbers 25 to 27 are long answer type questions, carrying five marks each.
(vii) Use of calculators is not permitted. However, you may use log tables, if necessary.

(viii) You may use the following values of physical constants wherever necessary:

Mass of neutron 

Boltzmann's constant 

Avogadro's number 

Roll No.

Series SHC Code  No. 55/1
Please check that this question paper contains 11 printed pages.
Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the condidate.
Please check that this question paper contains 27 questions.

Please write down the serial number of the question before attempting it.

Ñi;k tk¡p dj ysa fd bl iz'u&i=k esa eqfnzr i`"B 11 gSaA
iz'u&i=k esa nkfgus gkFk dh vksj fn, x, dksM uEcj dks Nk=k mÙkj&iqfLrdk ds eq[k&i`"B ij fy[ksaA
Ñi;k tk¡p dj ysa fd bl iz'u&i=k esa 27 iz'u gSaA
Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA

dksM ua-dksM ua-dksM ua-dksM ua-dksM ua-

jksy ua-
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lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %

(i) lHkh iz'u vfuok;Z gSaA

(ii) iz'u&i=k esa lexz ij dksbZ fodYi ugha gSA fQj Hkh nks vadksa okys ,d iz'u esa] rhu vadksa okys ,d iz'u
esa vkSj ik¡p vadksa okys rhuksa iz'uksa esa Hkhrjh p;u fodYi miyC/k gSA ,sls iz'uksa esa vkidks fn;s x;s
p;u esa ls dsoy ,d iz'u gh djuk gSA

(iii) iz'u la[;k 11111 ls 55555 vfr y?kq mÙkj izdkj ds iz'u gSaA buesa izR;sd iz'u ,d,d,d,d,d vad dk gSA

(iv) iz'u la[;k 66666 ls 1212121212 y?kq mÙkj izdkj ds iz'u gSaA buesa izR;sd iz'u nksnk snk snk snk s vadksa dk gSA

(v) iz'u la[;k 1313131313 ls 2424242424 Hkh y?kq mÙkj izdkj ds iz'u gSaA buesa izR;sd iz'u rhu rhu rhu rhu rhu vadksa dk gSA

(vi) iz'u la[;k 2525252525 ls 2727272727 nh?kZ mÙkj izdkj ds iz'u gSaA buesa izR;sd iz'u ik¡pik¡pik¡pik¡pik¡p vadksa dk gSA

(vii) dSydqysVj ds mi;ksx dh vuqefr ugha gSA rFkkfi] vko';d gks rks vki y?kqx.kdh; lkjf.k;ksa dk

mi;ksx dj ldrs gSA

(viii) tgk¡ vko';d gks vki fuEufyf[kr HkkSfrd fu;rkadksa ds ekuksa dk mi;ksx dj ldrs gSa %

U;wVªku dk lagfr 

cksYV~t+eku fu;rkad 

vkoksxknzks dh la[;k 

1. In a series LCR circuit, the voltages across an inductor, a capacitor and a resistor are
30 V, 30 V and 60 V respectively. What is the phase difference between the applied
voltage and the current in the circuit ? 1

fdlh Js.khc) ifjiFk esas izsjd] la/kkfj=k rFkk izfrjks/kd ds fljksa ij oksYVrk,¡ Øe'k% 30 V, 30 V rFkk
60 V gSaA yxkbZ xbZ oksYVrk rFkk ifjiFk dh fo|qr~ /kkjk ds chp fdruk dykUrj gS\

2. Ultraviolet radiations of different frequencies  and  are incident on two photosensitive

materials having work functions  and  respectively. The kinetic energy
of the emitted electrons is same in both the cases. Which one of the two radiations will
be of higher frequency ? 1

nks izdk'k&lqxzkgh inkFkZ ftuds dk;ZQyu  rFkk  gSa] ij ijkcSaxuh fofdj.k ftudh
vko`fÙk;k¡ Øe'k%  rFkk  gSa] vkifrr gSaA nksuksa izdj.kksa esa mRlftZr bysDVªkWuksa dh xfrt ÅtkZ,¡
leku gSaA bu nksuksa esa ls fdl fofdj.k dh vko`fÙk vf/kd gS\
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3. Define the term 'activity' of radionuclide. Write its SI unit. 1

fdlh jsfM;ks,sfDVo U;wDykbM dh ^lfØ;rk* dh ifjHkk"kk fyf[k,A bldk SI ek=kd fyf[k,A

4. An electron is moving a along +ve x-axis in the presence of uniform magnetic field along

 +ve y-axis. What is the direction of the force acting on it ? 1

/kukRed y-v{k ds vuqfn'k ,dleku pqEcdh; {ks=k dh mifLFkfr esa dksbZ bysDVªkWu /kukRed x-v{k
ds vuqfn'k xfr dj jgk gSA bl ij dk;Zjr cy dh fn'kk D;k gS\

5. What should be the length of dipole antenna for a carrier wave of frequency  ? 1

 vko`fÙk dh okgd rjax ds fy, f}/kqzo ,sUVsuk dh yEckbZ fdruh gksuh pkfg,\

6. Two point charges   and  are separated by a distance of 1 m in air.  Calculate
at what point on the line joining the two charges is the electric potential zero. 2

 rFkk   ds nks fcUnq vkos'k ok;q esa ,d&nwljs ls 1 m nwjh ij fLFkr gSaA bu nksuksa vkos'kksa
dks feykus okyh js[kk ij ml fcUnq dh fLFkfr ifjdfyr dhft, ftl ij oS|qr foHko 'kwU; gSA

7. A voltage of 30 V is applied across a carbon resistor with first, second and third rings of
blue, black and yellow colours respectively. Calculate the value of current, in mA,
through the resistor. 2

fdlh dkcZu izfrjks/kd] ftldk igyk] nwljk rFkk rhljk oy; Øe'k% uhys] dkys rFkk ihys o.kZ dk
gS] ds fljksa ij 30 V dh oksYVrk yxkbZ tkrh gSA izfrjks/kd  ls izokfgr gksus okyh fo|qr~ /kkjk dk
eku mA esa ifjdfyr dhft,A

8. A galvanometer has a resistance of  It gives full scale deflection with a current of
2 mA. Calculate the value of the resistance needed to convert it into an ammeter of
range 0-0.3 A. 2

fdlh xSYoSuksehVj dk izfrjks/k  gSA ;g 2 mA fo|qr~ /kkjk ds lkFk iw.kZ iSekuk fo{ksi.k nsrk
gSA bls 0-0.3 A ifjlj ds ,sehVj esa ifjofrZr djus ds fy, vko';d izfrjks/k dk eku ifjdfyr
dhft,A

9. Calculate the current drawn by the primary of a transformer which steps down 200 V to
20 V to operate a device of resistance . Assume the efficiency of the transformer to
be 80%. 2

OR

An a.c. voltage of 100 V, 50 Hz is connected across a 20 ohm resistor and mH inductor
in series. Calculate (i) impedance of the circuit, (ii) rms current in the circuit.
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ml VªkalQkWeZj dh izkFkfed dq.Myh }kjk yh tkus okyh fo|qr~ /kkjk ifjdfyr dhft, ftldk mi;ksx

200 V dks 20 V rd vipk;h djds  izfrjks/k dh fdlh ;qfä dks izpkfyr djus ds fy, fd;k

tkrk gSA VªkalQkWeZj dh n{krk 80% ekfu,A

vFkokvFkokvFkokvFkokvFkok

100 V, 50 Hz dh izR;korhZ /kkjk (a.c.) oksYVrk dks]  izfrjks/kd rFkk 2 mH izsjd ds Js.khØe

la;kstu ds fljksa ls tksM+k tkrk gSA (i) ifjiFk dh izfrck/kk] (ii) ifjiFk dh oxZ&ek/;&ewy (rms) fo|qr~

/kkjk ifjdfyr dhft,A

10. Define resolving power of a compound microscope. How does the resolving power of a
compound microscope change when

(i) refractive index of the medium between the object and objective lens  increases ?

(ii) wavelength of the radiation used is increased ? 2

la;qä lw{en'khZ dh foHksnu {kerk dh ifjHkk"kk fyf[k,A fdlh la;qä lw{en'khZ dh foHksnu {kerk esa

D;k ifjorZu gksrk gS tc

(i) oLrq rFkk vfHkn`';d ysal ds chp ds ek/;e dk viorZukad vf/kd gks tkrk gS\

(ii) mi;ksx fd, tkus okys fofdj.kksa dh rjaxnS?;Z c<+ tkrh gS\

11. Draw a graph showing the variation of potential energy between a pair of nucleons
as a function of their separation. Indicate the regions in which the nuclear force is
(i) attractive, (ii) repulsive. 2

U;wfDyvkWuksa ds ;qxy dh fLFkfrt ÅtkZ esa ifjorZu dks U;wfDyvkWuksa ds i`Fkdu dk Qyu ekudj xzkQ

[khafp,A blesa og {ks=k bafxr dhft, tgk¡ ukfHkdh; cy (i) vkd"khZ] (ii) izfrd"khZ gSA

12. Two semiconductor materials X and Y shown in the given figure, are made by doping
germanium crystal with indum and arsenic respectively. The two are joined end to end
and connected to a battery as shown.

(i) Will the junction be forward biased or reverse biased ?

(ii) Sketch a V-I graph for this arrangement. 2
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fp=k esa n'kkZ, nks v/kZpkyd inkFkks± X rFkk Y dks t+esZfu;e fØLVy dks Øe'k% bafM;e rFkk vklsZfud

ds lkFk vifefJr djds cuk;k x;k gSA fp=k esa n'kkZ, vuqlkj bUgsa ,d ds fljs dks nwljs ds fljs ls

tksM+dj fdlh cSVjh ls la;ksftr fd;k x;k gSA

(i) D;k ;g laf/k vxzfnf'kd ck;flr gksxh vFkok i'pfnf'kd ck;flr\

(ii) bl voLFkk ds fy, V - I xzkQ [khafp,A

13. State Gauss's theorem in electrostatics. Apply this theorem to derive an expression for
electric field intensity at a point near an infinitely long straight charged wire. 3

fLFkj fo|qfrdh esa xkml izes; fyf[k,A bl izes; dk vuqiz;ksx vuUr yEckbZ ds lh/ks vkosf'kr

rkj ds fudV fdlh fcUnq ij fo|qr~&{ks=k dh rhozrk ds fy, O;atd O;qRié djus ds fy,

dhft,A

14. Explain the underlying principle of working of a parallel plate capacitor.

If two similar plates, each of area A having surface charge densities  and  are
separated by a distance d in air, write expressions for

(i) the electric field at points between the two plates.

(ii) the potnetial difference between the plates.

(iii) the capacitance of the capacitor so formed. 3

lekUrj ifV~Vdk la/kkfj=k dh dk;Zfof/k dk vk/kkjHkwr fl)kUr Li"V dhft,A

;fn nks leku ifV~Vdk,¡ ftuesa izR;sd dk {ks=kQy A] i`"Bh; vkos'k ?kuRo  rFkk  rFkk ok;q

esa i`Fkdu nwjh d gS] rks fuEufyf[kr ds fy, O;atd fyf[k, %

(i) nksuksa ifV~Vdkvksa ds chp ds fcUnqvksa ij fo|qr~&{ks=kA

(ii) ifV~Vdkvksa ds chp foHkokUrjA

(iii) bl izdkj cus la/kkfj=k dh /kkfjrkA
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15. For the potentiometer circuit shown in the given figure, points X and Y reprensent the
two terminals of an unknown emf E'. A student observed that when the jockey in moved
from the end A to the end B of the potentiometer wire, the deflection in the
galvanometer remains in the same direction.

What may be the two possible faults in the circuit that could result in this
obsevation ?

If the galvanometer deflection at the end B is (i) more, (ii) less, than that at the end
A, which of the two faults, listed above, would be there in the circuit ?

Give reasons in support of your answer in each case. 3

                                            OR

The given figure shows a network of resistances R
1
, R

2
, R

3
 and R

4
.

Using Kirchhoff's laws, establish the balance condition for the network.
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n'kkZ, x, iksVSfU'k;ksehVj ifjiFk esa fcUnq X rFkk Y fdlh vKkr fo-ok-cy- (emf) E' ds nks VfeZuyksa

dks fu:fir djrs gSaA dksbZ fo|kFkhZ ;g izs{k.k djrk gS fd tc tkWdh dks iksVSfU'k;ksehVj rkj ds fljs

A ls fljs B dh vksj ys tkrs gSa] rks xSYoSuksehVj esa fo{ksi.k ,d gh fn'kk esa jgrk gSA

ifjiFk esa os dkSulh nks laHko =kqfV;k¡ gks ldrh gSa ftuds ifj.kkeLo:i ;g izs{k.k feyrk gS\

;fn xSYoSuksehVj esa fljs B ij fo{ksi.k fljs A dh rqyuk esa (i) vf/kd] (ii) de gS] rks Åij nh xbZ nks =kqfV;ksa

esa ls ifjiFk esa dkSulh =kqfV gS\

izR;sd izdj.k esa vius mÙkj dh iqf"V dkj.k nsdj dhft,A

vFkokvFkokvFkokvFkokvFkok

fn, x, ifjiFk esa izfrjks/kksa R
1
, R

2
, R

3 
rFkk R

4 
dk ,d usVodZ n'kkZ;k x;k gSA

fdj[kksQ ds fu;eksa dk mi;ksx djds] bl usVodZ ds larqyu ds fy, 'krZ LFkkfir dhft,A
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16. What is Seebeck effect ? Plot a graph showing the variation of thermo emf with
temperature of hot junction (keeping cold junction at 0°C) of a thermocouple. How will
the (i) neutral temperature, (ii) inversion temperature of a thermocouple change when
the temperature of cold junction is increased ? 3

lhcsd ¼tScsd½ izHkko D;k gS\ fdlh rkioS|qr ;qXe ds fy, xje laf/k ds rki esa ifjorzu ds lkFk

rki&fo|qr~&okgd cy esa gksus okys ifjorZu ¼tcfd BaMh laf/k dk rki 0°C j[kk x;k gS½ dks n'kkZus

ds fy, xzkQ [khafp,A fdlh rkioS|qr ;qXe ds (i) mnklhu rki] (ii)  O;qRØe rki esa BaMh laf/k ds rki

esa o`f) djus dk D;k izHkko gksrk gS\

17. Name the following constituent radiations of electromagnetic spectrum which

(i) produce intense heating effect.

(ii) is absorbed by the ozone layer in the atmosphere.

(iii) is used for studying crystal structure.

Write one more application forr each of these radiations. 3

fo|qr~&pqEcdh; LisDVªe ds mu fuEufyf[kr vo;oh fofdj.kksa ds uke fyf[k, tks

(i) rhoz Å"eh; izHkko mRié djrs gSaA

(ii) ok;qeaMy dh vkst+ksu ijr }kjk vo'kksf"kr dj fy, tkrs gSaA

(iii) fØLVyh; lajpuk ds v/;;u esa iz;qä gksrs gSaA

buesa ls izR;sd fofdj.k dk ,d vU; vuqiz;ksx fyf[k,A

18. A double convex lens of glass of refractive index 1.6 has its both surfaces of equal radii
of curvature of 30 cm each. An object of height 5 cm is placed at a distance of 12.5 cm
from the lens. Calculate the size of the image formed. 3

1-6 viorZukad ds dk¡p ls cus fdlh mHk;ksÙky ysal ds nksuksa i`"Bksa dh oØrk f=kT;k,¡ leku vkSj izR;sd

30 cm dh gSA 5 cm Å¡pkbZ dh dksbZ oLrq bl ysal ls 12.5 cm nwjh ij j[kh xbZ gSA cuus okys izfrfcEc

dk vkeki ifjdfyr dhft,A

19. Draw a schematic diagram of the experimental arrangement used by Davisson and
Germer to establish the wave nature of electrons. Explain briefly how the de-Broglie
relation was experimentally verified in case of electrons. 3

bysDVªkWuksa dh rjax izÑfr dks LFkkfir djus ds fy, Msfolu rFkk teZj }kjk mi;ksx esa ykbZ xbZ

izk;ksfxd O;oLFkk dk O;oLFkk vkjs[k [khafp,A bysDVªkWuksa ds izdj.k esa ns&czkXyh laca/k dk izk;ksfxd

lR;kiu fdl izdkj fd;k x;k] la{ksi esa Li"V dhft,A
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20. Draw the graph to show variation of binding energy per nucleon with mass number of

different atomic nuclei. Calculate binding energy/nucleon of   nucleus. 3

Given :
mass of 
mass of proton = 1.007825 u
mass of neutron = 1.008665 u
and 1 u = 931 MeV/C2

fofHké ijek.kq ukfHkdksa dh nzO;eku la[;k esa ifjorZu ds lkFk izfr U;wfDyvkWu cU/ku ÅtkZ

esa gksus okys ifjorZu dks n'kkZus ds fy, xzkQ [khafp,A ukfHkd dh cU/ku ÅtkZ@U;wfDyvkWu

ifjdfyr dhft,A

fn;k x;k gS %

 dk nzO;eku = 39.962589 u

izksVkWu dk nzO;eku = 1.007825 u

U;wVªkWu dk nzO;eku = 1.008665 u

rFkk 1 u = 931 MeV/C2

21. Draw the circuit diagram of a common emitter amplifier using n-p-n transistor. What is
the phase differnece between the input signal and output voltage ? State two reasons
why a common emitter amplifier is preferred to a common base amplifier. 3

n-p-n VªkaftLVj dk mi;ksx djds mHk;fu"B mRltZd izo/kZd dk ifjiFk vkjs[k [khafp,A fuos'kh

flXuy rFkk fuxZr oksYVrk ds chp dykUrj D;k gS\ mHk;fu"B vk/kkj izo/kZd dh rqyuk esa

mHk;fu"B mRltZd izo/kZd dks vf/kd ilUn D;ksa fd;k tkrk gS] nks dkj.k fyf[k,A

22. Explain the formation of energy band in solids. Draw energy band diagram for (i) a
conductor, (ii) an intrinsic semiconductor. 3

Bkslksa esa ÅtkZ&cS.M cuuk Li"V dhft,A (i)  fdlh pkyd] (ii)  fdlh uSt v/kZpkyd ds fy, ÅtkZ&cS.M

vkjs[k [khafp,A

23. What is modulation ? Explain the need of modulating a low frequency information signal.
With the help of diagrams, differentiate between PAM and PDM. 3

ekMqyu D;k gS\ fdlh fuEu vko`fÙk lwpuk flXuy dks ekMqfyr djus dh vko';drk Li"V dhft,A

fp=kksa dh lgk;rk ls] PAM rFkk PDM esa Hksn dhft,A

24. Write the acronym LASER in expanded form. State any four reasons for preferring diode
lasers as light sources for optical communication links. 3

ifjo.khZ 'kCn LASER dk foLrkfjr :i fyf[k,A izdkf'kd lapkj lEidks± ds fy, izdk'k lzksrksa ds :i

esa Mk;ksM yst+j dks vf/kd ilUn fd, tkus ds dksbZ pkj dkj.k fyf[k,A
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25. Explain, with the help of a labelled diagram, the principle and construction of a
cyclotron.
Deduce an expression for the cyclotron frequency and show that it does not depend on
the speed of the charged particle. 5

OR
Distinguish the magnetic properties of dia, para- and ferro-magnetic substances in
terms of (i) susceptibility, (ii) magnetic permeability and (iii) coercivity. Give one
example of each of these materials.

Draw the field lines due to an external magnetic field near a (i) diamagnetic,
(ii)  paramagnetic substance.

ukekafdr vkjs[k dh lgk;rk ls lkbDyksVªkWu dh lajpuk rFkk fl)kUr Li"V dhft,A

lkbDyksVªkWu vko`fÙk ds fy, O;atd O;qRié dhft, rFkk n'kkZb, fd ;g vko`fÙk vkosf'kr d.k dh pky
ij fuHkZj ugha djrhA

vFkokvFkokvFkokvFkokvFkok

(i)  lqxzkfgrk] (ii)  pqEcdh; ikjxE;rk rFkk (iii)  fuxzkfgrk ds inksa esa izfr&] vuq& rFkk yksg&pqEcdh;
inkFkks± ds pqEcdh; xq.kksa esa Hksn dhft,A bu inkFkks± esa izR;sd dk ,d&,d mnkgj.k fyf[k,A
(i)  izfrpqEcdh;] (ii)  vuqpqEcdh; inkFkZ ds fudV fdlh cká pqEcdh; {ks=k ds dkj.k {ks=k js[kk,¡
[khafp,A

26. Explain the term 'inductive reactance'. Show graphically the variation of inductive
reactance with frequency of the applied alternating voltage.
An a.c. voltage  is applied across a pure inductor of inductance L. Show
mathematically that the current flowing through it lags behind the applied voltage by aphase
angle of  . 5

OR
Explain the term 'capacitive reactance'. Show graphically the variation of capacitive
reactance with frequency of the applied alternating voltage.
An a.c. voltage  is applied across a pure capacitor of capacitance C. Show
mathematically that the current flowing through it leads the applied voltage by a phase angle
of  .

^izsjf.kd izfr?kkr* dks Li"V dhft,A vuqiz;qä izR;korhZ oksYVrk dh vko`fÙk esa ifjorZu ds lkFk izsjf.kd
izfr?kkr esa ifjorZu dks xzkQ [khapdj n'kkZb,A
L  izjs.k ds fdlh vkn'kZ izsjd ds fljksa ij dksbZ izR;korhZ /kkjk (a.c.) oksYVrk  vuqiz;qä
dh tkrh gSA xf.krh; :i esa ;g n'kkZb, fd blls izokfgr gksus okyh fo|qr~ /kkjk vuqiz;qä oksYVrk
ls dyk dks.k  }kjk i'p gksrh gSA

vFkokvFkokvFkokvFkokvFkok
^/kkfjrk izfr?kkr* dks Li"V dhft,A vuqiz;qä izR;korhZ oksYVrk dh vko`fÙk esa ifjorZu ds lkFk /kkfjrk
izfr?kkr esa ifjorZu dks xzkQ [khapdj n'kkZb,A
C /kkfjrk ds fdlh vkn'kZ la/kkfj=k ds fljksa ij dksbZ izR;korhZ /kkjk (a.c.) oksYVrk 
vuqiz;qä dh tkrh gSA xf.krh; :i ls ;g n'kkZb, fd blls izokfgr gksus okyh fo|qr~ /kkjk vuqiz;qä
oksYVrk ls dyk dks.k  }kjk vxz gksrh gSA
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27. State the essential condition for diffraction of light to take place.

Use Huygen's principle to explain diffraction of light due to a narrow single slit and

the formation of a patern of fringes obtained on the screen. Sketch the pattern of

fringes formed due to diffraction at a single slit showing variation of intensity with

angle . 5

OR

What are coherent sources of light ? Why are coherent sources required to obtain

sustained interference pattern ?

State three characteristic features which distinguish the interference pattern due to two

coherently illuminated sources as compared to that observed in a diffraction pattern

due to a single slit.

izdk'k ds foorZu ds fy, vko';d 'krZ fyf[k,A

gkbxsUl ds fl)kUr dk mi;ksx djds fdlh ladh.kZ ,dy f>jh ds dkj.k izdk'k dk foorZu rFkk insZ
ij izkIr fÝ+tksa ds iSVuZ dk cuuk Li"V dhft,A dks.k  ds lkFk rhozrk esa ifjorZu dks n'kkZrs gq,
fdlh ,dy f>jh ij foorZu ds dkj.k cus fÝ+at iSVuZ dk js[kkfp=k [khafp,A

vFkokvFkokvFkokvFkokvFkok

izdk'k ds dyklac) lzksr D;k gksrs gSa\ izfrikfyr O;frdj.k iSVuZ izkIr djus ds fy, dyklac) lzksrksa
dh vko';drk D;ksa gksrh gS\

,sls rhu fof'k"V y{k.k fyf[k, ftuds }kjk nks dyklac) nhIr lzksrksa ds dkj.k izkIr O;frdj.k iSVuZ
dh rqyuk esa ,dy f>jh ds dkj.k izsf{kr foorZu iSVuZ ls Hksn fd;k tk ldsA


